mERE-REERA A

SHEEE TR IR D

[10 Bx#E|Exan 22 &

FHRIBTA 2024592780  FiT
I L SH L
T EREW S FEFEEDAREMEAHYET N 5 2 S %‘g
N = ERELEES R 17:15
1| w| =& SC3# 24| k1| K2 k3| K4 K5 K6| B | 749
= :
& PREESOE
2| k| & 24| k1| k2| k3| k4| k5 2 | 1500
# EMZE2E 17:15
ENE: FUNTLF—S v T HERGR 14245 2H| K1\ k2| K3 K4\ K6| k5| & | 74
4l 7} . 17:15
i AS ¥ 3 &% 21|22\ 23| 24|25|86| £ 1730
5%
6(H
= | BEREOERER 16:15
718 w;? P &5 10878 (B)~178(K) *108%K< &A1/ A2 A3 A4| A6 2 16:30
£ | amEz
] = g [sROE) 16:15
8| X i .’fﬁ %\é {ﬁ?{fﬁ]ﬁg 14:10-14:40 8| k1| k2| k3| k4| k5 % 16:30
gq P B |— ®#E-#8 15051535 i
ofk|®E| | % 24| k1| K2| K3|K4| K5 2 | 45
= i H# | 10A1E®) 8L R @vF-L *HIR :
# LWWHLEDNDA ’ %ZEE}E <r‘ni#§§) 17:15
10| & | & FIR B4 13:40-15:30 fél LHRRE® R K1 K2 K3 K4 AS|K6| B | 749
ST [ TWEES BEX g [ e 1715
nig| 2| | Asxr = omsozes oH| 2192 8324 85 7| 2 | 75
Gl EEATRO B @;Er.m&gx;wmmi
12| £ o DhEREORE ’
E3 GmtOIElE
— 5 mas
RIS > SRETEE
13| B wl S
ZR—yn A "Ef“' | 10A15A ) HER @SUFI—L HR
141 A E B3| (GERE)
| ®AMEXRE BRR ; [ Shmoces 17:15
SES RSP~ vt QBIFBOEOH) 24| K1\ k2| k3| k4 k6| R6| E | 75,
A | OBRRELOBE :
%ﬁ e AN @mtoLlE -
16| Kk | & @[ TRERE 2 s _ 4| K1 | k2| k3| k4| K5 £ | 4500
& i ~ A 3RS > BRETEE :
= 55 ./ 17:15
17| K| B e 0A1E(@) BER 1| K1/ K2| K3 K4 K5 K6 £ | 175
= 8:10 BRET -HHEF NABH 1150 REHHE
2 BEZ(MEREREE) 825 SPEEHIS 1230 ngﬁr ) R 16:25
ol I 3 . E S EERERERR - 1 12:40 BERCGERUGL. F4HS)-B sl = | = | = | = | .
18| & % AS #1-2 S0 BARBACERREREL | 0 SRGREEIAY &R E F|F | F B * | 1640
— = 9:45  BREMRR 135 BEFE
M= 1030 BB (ZO®HE) Bl HEREED .
19| & #%A8 100 BH . 2R E | E| 8 X .
11:30
20| H
108198 (D)DIREAR B
21| A
] = 17:15
22| k| & % | #EEB0ERI(~10/30) £#%|R1|A2|A3|A4| A5 A6l £ | 74
= # :
£ % s
23| k| & B| Aszs HARREMORE 24| k1| k2| k3| k4| ks £ .
= i B
& 3 8:10~ 8:40 HHAMAH 1715
24| K| & 21 JoBwWORLD (324 15:30-) 8:40~ 8:45 W 28| K1 K2| R3| k4| K5 K6| £ | 74
= ﬁ :
> B <RI — U (B 13:45-14:45) 8:55~ 9:40 1R :
X A 9:50~10:35 2[R " 17:15
2| £ % 5 AS 3 10:45~11:30 38 2k ®1| 2\ #3\ &4 &5 &6| = 17:30
* 11:40~12:25 4R
26| £ 12:25~12:40 &#R-RELER
12:45~13:00 #&
27l 8 13:00~13:35 BHH
= 13:40~14:25 5[
hidg 3 14:30~14:40 #R$FE(SROH) . 17:15
28| A | & B 14:40~15:00 HEMB(SROE) 2| A1 A2 A3/ A4\ AS|A6| £ | 75,
L & 14:35~15:20 6
L2 . 15:25~15:35 &% (6RDA) . 17:15
29| & a; % 15:35~15:55 HEMHK(GRNOA) S| k1| k2| k3| k4| k5| k6| E 17:30
E (=3
= A " L)
30| 7k B 5 24| k1| k2| k3| k4| k5 2 | 1500
“ 17:15
3| K| & 24| K1|K2| K3| K4| K5 k6| & _
= 17:30




